Special Homework

For the following circuit:
a) Determine and sketch the transfer function in polar form.

b) Assume that R=1 and C=2, sketch the transfer function versus
the frequency, f; i.e. in Hertz.

c) What sort of circuit is this?

d) What is its cutoff frequency? ); L
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For the following circuit: Exa m 2

a) Determine the transfer function in polar form
b) Assume that R=1 and C=2, sketch the transfer function versus the frequency, £ i.e. in Hertz.
c) Whatsort of circuitis this?
d) Whatisits cutoff frequency?
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Exam 2

5. For the following circuit:
a) Determine the transfer function in polar form
b) Assume that R=1 and C=2, sketch the transfer function versus the frequency, f; i.e. in Hertz.
C) What sort of circuit is this? 1t
d) What is its cutoff frequency? C ®
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